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&9��.HPEDU�0HNDU��&LSDUD\�� %DQGXQJ��PHUXSDNDQ� SHUXVDKDDQ�PHQHQJDK� \DQJ�
EHUJHUDN� GLELGDQJ� SURGXNVL� SDNDQ� WHUQDN� EHUNXDOLWDV� GL� ,QGRQHVLD� 3DGD� SURVHV�
SHQJRODKDQ�SDNDQ�WHUQDN�WHUGDSDW�SURVHV�SHQJJLOLQJDQ�\DQJ�PHQJJXQDNDQ�PHVLQ�
KDPPHU�PLOO��'L�EDJLDQ�DWDV PHVLQ�KDPPHU�PLOO GLEXWXKNDQ EDN�SHQDPSXQJ�\DQJ�
GLOHQJNDSL� GHQJDQ� OXEDQJ� LQSXW \DQJ� GLJXQDNDQ� XQWXN�PHQDPSXQJ� EDKDQ� EDNX�
\DQJ� DNDQ� GLDOLUNDQ� NH� OXEDQJ� WHUVHEXW� .HPXGLDQ� EHUGDVDUNDQ� REVHUYDVL� \DQJ�
GLODNXNDQ�ROHK�SHQHOLWL��WHUGDSDW�KDO SHQWLQJ�\DQJ�MDGL�DNDU�SHUPDVDODKDQ�SHQHOLWLDQ�
LQL�� \DNQL� WHUGDSDW� EDQ\DNQ\D� SRWHQVL� EDKD\D� SDGD� EDN� SHQDPSXQJ� EDKDQ� EDNX
GLNDUHQDNDQ�GHQJDQ�DGDQ\D GHVDLQ�\DQJ�NXUDQJ�DPDQ�\DQJ�GLWXQMXNDQ�ROHK�KDVLO�
ULVN�DQDO\VLV GHQJDQ QLODL�5$&�\DQJ�WLQJJL \DLWX����VHULXV���GDQ����VHGDQJ���7XMXDQ�
GDUL�SHQHOLWLDQ�LQL�DGDODK PHPEHULNDQ�XVXODQ�SHUDQFDQJDQ�EDN�SHQDPSXQJ�EDKDQ�
EDNX� XQWXN� PHQJXUDQJL� ULVLNR� NHFHODNDDQ� NHUMD� WHUVHEXW VHKLQJJD� QLODL� 5$&�
EHNXUDQJ� PHQMDGL� �� ± �� 3HUDQFDQJDQ� XODQJ� LQL� PHQJJXQDNDQ� PHWRGH� UHYHUVH�
HQJLQHHULQJ NDUHQD FRFRN� XQWXN� PHODNXNDQ� SHUDQFDQJDQ� XODQJ� GDUL� SURGXN�
HNVLVWLQJ� 7XMXDQ� WHODK�GLFDSDL�GHQJDQ�PHPEXDW�EDN�SHQDPSXQJ�XVXODQ�\DQJ�GL�
GDODPQ\D� WHUGDSDW� SHUXEDKDQ�SHUXEDKDQ� GHVDLQ� \DQJ� GDSDW� PHQJXUDQJL� SRWHQVL�
EDKD\D�EHUGDVDUNDQ�ULVN�DQDO\VLV VHEHOXPQ\D VHKLQJJD KDVLO�ULVN�DQDO\VLV \DQJ�EDUX�
PHQGDSDW QLODL�5$&�\DQJ�OHELK�UHQGDK \DLWX����VHGDQJ���GDQ����NHFLO��
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